

$$\begin{aligned} a_1 &= 250 \\ a_7 &= 21 \Rightarrow d = \frac{a_7 - a_1}{7-1} = \frac{21-250}{6} = \frac{-229}{6} = -\frac{229}{6} \Rightarrow d = -\frac{229}{6} \end{aligned}$$

$$a_n = vn + b \Rightarrow a_1 = v + b = 250 \Rightarrow b = 249 \Rightarrow a_n = vn + 249$$

$$a_n = vn + 249 = 201 \Rightarrow vn = 201 - 249 = -48 \Rightarrow \boxed{n = 24} \Rightarrow \boxed{a_{24} = 201}$$

$$\frac{v}{n} \Rightarrow vn + 249 \geq 100 \Rightarrow 99 \geq vn \geq 100 \Rightarrow 99 \geq v \geq 100 \Rightarrow$$

$$\frac{99}{v} \geq n \geq \frac{100}{v} \Rightarrow 142 \geq n \geq 13 \dots \Rightarrow 142 \geq n \geq 13 \Rightarrow \boxed{n = 132} \Rightarrow \boxed{a_{132} = 142}$$

$$a_n = vn + 249 \leftarrow \begin{matrix} +v \\ +v \end{matrix} \Rightarrow \begin{matrix} 142 \\ 143 \end{matrix} \Rightarrow \boxed{142} \Rightarrow \boxed{b = 249}$$

$$a_{n+1} + a_{n+2} + a_{n+3} = a_1 + nd + a_1 + (n+1)d + a_1 + (n+2)d \Rightarrow$$

$$3a_1 + (3n+3)d \Rightarrow 3(a_1 + (n+1)d) \Rightarrow$$

$$3(a_1 + (n+1)d) = 3(n+1) \Rightarrow a_1 + (n+1)d = n+1 \Rightarrow a_1 = 1$$

$$a_{11} + a_n = 2(a_1) + 2nd = 2(1) + 2n(-\frac{1}{2}) = -n$$

$$a_{11} + a_n = -n \Rightarrow a_{11} + a_n = -n \Rightarrow a_{11} + a_n = -n \Rightarrow a_{11} + a_n = -n$$

$$a_1 - a_n = a_{11} - a_n \Rightarrow (1 - \frac{1}{2}n) - (1 - \frac{1}{2}n) = (1 - \frac{1}{2}n) - (1 - \frac{1}{2}n) \Rightarrow$$

$$\begin{aligned} &1 - \frac{1}{2}n + 1 - \frac{1}{2}n = 2 - n = 1 - \frac{1}{2}n \Rightarrow 1 - \frac{1}{2}n = 1 - \frac{1}{2}n \Rightarrow n = 2 \\ &\Rightarrow \boxed{n = 2} \Rightarrow \boxed{S = 1 + 1 + 1 = 3} \end{aligned}$$

$$a_{11} = 1 - \frac{1}{2} \cdot 11 = -\frac{11}{2} \Rightarrow a_{11} = -\frac{11}{2} \Rightarrow a_{11} = -\frac{11}{2}$$

$$a_{11} + a_{10} = 2d \Rightarrow a_{11} - a_{10} = 2d \Rightarrow d = \frac{a_{11} - a_{10}}{2}$$

$$a_{11} = a_1 + 10d \Rightarrow a_{10} = a_1 + 9d \Rightarrow a_{11} + a_{10} = 2a_1 + 19d = 20 \Rightarrow$$

$$2(a_1 + \frac{19}{2}d) = 20 \Rightarrow a_1 + \frac{19}{2}d = 10 \Rightarrow a_1 = 10 - \frac{19}{2}d$$

$$a_{11} = a_1 + 10d \Rightarrow a_{11} = 10 - \frac{19}{2}d + 10d = 10 + \frac{1}{2}d = 10 \Rightarrow \boxed{d = 0} \Rightarrow \boxed{a_{11} = 10}$$

$$\left. \begin{aligned} S_{\omega} &= \text{دولت اول} \\ S_{\omega'} &= \text{دولت دوم} \end{aligned} \right\} \Rightarrow S_{\omega} = S_{\omega'} \times \frac{1}{\gamma} \Rightarrow$$

$$S_{23}' = \frac{\Delta}{r} (r(a_9) + r_d) = \left(\frac{\Delta}{r} (r(a_1 + i a d) + r_d) \right) = \frac{\Delta}{r} (r(a_1 + i r_d))$$

$$S_0 = \frac{a}{r}(r a_1 + r d) \Rightarrow \frac{a}{r}(r a_1 + r d) = \frac{a}{r} \times \frac{1}{r}(r a_1 + r d) \Rightarrow a a_1 + a d = r a_1 + r d$$

$$\Rightarrow r a_1 = r d \Rightarrow \boxed{a_1 = d} \Rightarrow \frac{a r}{a_1} = \frac{a_1 + d}{a_1} = 1 + \frac{d}{a_1} = 1 + r \Rightarrow \boxed{1 + r} \Rightarrow \frac{a_1 + d}{a_1} = 1 + r$$

$$z_n = z_n - r d + |d| \Rightarrow -r d + |d| = 0 \Rightarrow -r d = -|d| \Rightarrow d = \cancel{d}$$

$$\begin{aligned} z_q &= z_1 + \lambda d \\ z_w &= z_1 + \frac{f_0}{\gamma_0} d \end{aligned} \Rightarrow \left. \begin{aligned} (z_1 + \lambda d)^T &= z_1^T + \lambda f_0 + \lambda \gamma_0 z_1^T \\ (z_1 + \frac{f_0}{\gamma_0} d)^T &= z_1^T + f_0 + \gamma_0 z_1^T \end{aligned} \right\} \Rightarrow \begin{aligned} z_1^T + \lambda f_0 + \lambda \gamma_0 z_1^T &= z_1^T + f_0 + \gamma_0 z_1^T \\ \lambda f_0 + \lambda \gamma_0 z_1^T &= f_0 + \gamma_0 z_1^T \end{aligned}$$

$$t_v = t_1 + \frac{y_d}{v_0} = t_1 + \frac{v_0}{v_0} \Rightarrow \frac{t_q - t_w}{t_v} = \frac{1100 + 100t_1}{t_1 + 100} = \frac{100(10 + t_1)}{(10 + t_1)} = 100$$

$$a_1 = r - 9\sqrt{r} \quad \Rightarrow \quad r + \sqrt{r} = (r - 9\sqrt{r}) + 10\sqrt{r} = a_1 \sqrt{r} \Rightarrow$$

$$d_1 r = r + \sqrt{r} \quad \int \Rightarrow \quad d_2 = \sqrt{r} + 9\sqrt{r} \Rightarrow d_2 = \frac{\sqrt{r} + 9\sqrt{r}}{1} \Rightarrow d_2 = 10\sqrt{r}$$

$$a_1 t = a_1 + 11d \rightarrow r - 11\sqrt{r} + 11d = r + \sqrt{r} \rightarrow 11d = 11\sqrt{r} \rightarrow d = \sqrt{r}$$

$$p_{\text{ref}} = d = \frac{a_{1f} - a_1}{1 + 1} = \frac{r + \sqrt{r} - (r - 4\sqrt{r})}{1 + 1} = \frac{\sqrt{r} + 4\sqrt{r}}{1 + 1} \rightarrow p_{\text{ref}}$$

$$r_0, \dots, r_{n-1} \Rightarrow d = \frac{r_n - r}{(Fn - r) + 1} = \frac{r_0}{Fn - r} = \frac{r_0}{r(n-1)} = \frac{1}{r(n-1)}$$

$$\Rightarrow \underbrace{a_{n+1}}_{\substack{\text{11te terim} \\ \text{11. terim}}} = 11 \Rightarrow a_n + d = 11 \Rightarrow \underbrace{a_{n+1}}_{\substack{\text{11te terim} \\ \text{11. terim}}} = \underbrace{a_1}_{\substack{\text{1. terim} \\ \text{1. terim}}} + nd = \boxed{nd = 9} \rightarrow d = \frac{9}{n}$$

$$d = \frac{r_0 - r}{(r_n - r) + 1} = \frac{r_0}{r_n - r} \Rightarrow \frac{r_0}{r_n - r} = \frac{q}{n} \Rightarrow r_0 n = r q n - 1 \Rightarrow q n = 1$$

$$\Rightarrow \boxed{n = \frac{1 \cdot d}{q} = r}$$

$$a_n + a_{n+r} = a_p + a_q \Rightarrow n + (n+r) = 14 + 10 \Rightarrow 2n+r = 24 \Rightarrow$$

$$\Gamma n \geq 1 \Rightarrow \boxed{n \geq 1}$$

$$\Rightarrow a_1 = v a_r \Rightarrow \frac{a_1}{a_r} = v \Rightarrow \frac{a_1 + v d}{a_1 + v d} = v \Rightarrow v a_1 + v^2 d = a_1 + v d \Rightarrow$$

$$\Rightarrow \text{if } a_1 z - d \Rightarrow a_n z = 0 \Rightarrow a_n = a_1 + (n-1)d = 0 \Rightarrow a_1 + nd - d = 0 \Rightarrow nd - rd = 0 \Rightarrow d(n-r) = 0 \Rightarrow d = 0 \text{ or } n = r \Rightarrow \boxed{n = r} \Rightarrow \boxed{a_r = 0}$$